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DOW30 1917042 (-0.11%)

NASDAQ 5255.65 (+0.09%)

S&P500 2191.95 (+0.04%)

NIKKEI225  18426.08 (-0.47%)
SHANGHAI 3243.84 (-0.90%)

FTSE100 6730.72 (-0.33%)

DAX30 10513.35 (-0.20%)

CAC40 4528.82 (-0.70%)
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Sz/etal  1.0663 (+0.0004)

Sz /9 12111 (-0.45)

Eh{ /o 113.57 (-0.45)

CH{/2I0F  6.8794 (-0.0164)

e /st 12723 (+0.0131)
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WTI 51.68 (+1.2%)

COMEXg  1177.80 (+0.7%)

ofsf BIxyo| MEIH

o
=

2

e
0z




HS <2016 128 05 Al=h>

AAT  1970.61 (-0.66%)
AL 586.73 (-1.20%)
fl/=h  1172.60 (+5.00)
KTB 109.16 (-0.14)
LKTB 124.25 (-0.60)
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CD(91d) 1.5400% (+0.01bp)

[2 1]

ly 1.6080% (-1.80bp)
3y 1.7610% (+3.60bp)
Sy 1.9900% (+6.30bp)
10y  2.2600% (+6.00bp)
20y 2.2750% (+5.80bp)
30y  2.2750% (+6.50bp)
)

50y  2.2650% (+6.50bp

[S2txH]
ly 1.6100% (-1.60bp)
2y 1.7270% (+2.00bp)

7. 2 A%t ATpE

ING -8.25bp (+2.85bp)
2y -15.95bp (+0.50bp)
3y -14.60bp (-0.85bp)
5Y -27.25bp (-1.80bp)
10y -37.25bp (-0.50bp)
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1Y 1.5275%  (+1.25bp)
2y 1.5675%  (+2.50bp)
3y 1.6150% (+2.75bp)
5Y 1.7175%  (+4.50bp)
7Y 1.7825%  (+4.50bp)

10Y 1.8875%  (+5.50bp)

102Y 400 (+1.25bp
2*3Y 475 (+0.25bp

)
)
2*5Y 15.00 (+2.00bp)
)

3*5Y 1025 (+1.75bp

5*7Y 650 (0.00bp)

5*10Y 17.00  (+1.00bp)
*CRS 22|

1Y 1.0450% (+1.00bp)
2y 1.1250% (+0.50bp)
3y 1.1800% ( 0.00bp)
5Y 1.2400% ( 0.00bp)
7Y 1.2500% ( 0.00bp)
10Y  1.2450% ( 0.00bp)
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F=-11¢ Caixin MH[A PMI (0f4:52.7, 0|T:52.4)
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